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1 Distance between the points A(1,3) and B(0, —4) is
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Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of non-programmable scientific calculator is permitted.

English version is authentic.

o E

Fill in the blanks using appropriate choice from the given options.

a.  2V5 B 5V2 c. 37 d. 3v2
1 [Ggul A(L,3) HA B(0,—4)dR o ¥{dR 8.
w25 o 5V2 5. 3V7 S. 32
2 Slope of any straight line perpendicular to the line 3x —4y + 6 = 0 is
a. 3/, B .—3/, . c. .4/3 d. — 4/
R SIOURL YW B YUl 3x — 4y + 6 = 0o €ul Sl def 3lU 29l
w3/, o, =3/, 5. 4 s. =4,
3 Slope of line passing through the points (20,7) and (2,k) is 2/3 thenk =
a..—5 | b. 5 | C. 2/3 d. 3/2
3 [oigdl (20,7) ¥ (2k) Higl AR Udl YRuil o] @l 2/5 Slddl k=
¥, -5 o. 5 s 2/3 S, 3/2
4 TheRadiusofcircle x?+y2—2x+4y+1=0is :
a. V6 b. 2 c. 4 d. 6
¥ ddx?+y?—2x +4y+1 =0l G0 2]
AU V6 o, 2 5. 4 S. 6
5 f f(x) = log(cotx) thenf(%) = _
a. 1 b. e c. O d m
T
U o) £(x) = log(cotx) cl f(Z) =
A 1 . e 5.0 S. m
6 o x3 =27
lim =
x-3 X —
a. 9 b. 81 c. 27 d 0
€ o x3-=27
lim =
x->3 x—3
¥, 9 o, 81 5 27 S. 0
7 If f(x) = e*secxthenf'(x) =___
b. C. d.
a. e*secxtanx e*secx(1 — tanx) e*secx (1 + tanx) e*tanx(1
+ secx)
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Q2 (a)

o8\ f(x) = e*secx Cnf’(x) =

. 5. S.
W, e*secxtanx e*secx(1 —tanx) e*secx(1 + tanx) e*tanx(1
+ secx)
d
— (3 +3*+33%) =
dx
a. 3x2 +x3*1 4+ 3(3)2 b. C. d. 3x%+
3x% + 3*log3 x3 + 3*logx xlog3 +
32
d
— (3 +3"+3%) =
dx
¥, 3x% + x3* 1 + 3(3)2 o, s. S. 3x% +
3x% + 3*log3 x3 + 3%logx xlog3 +
32
If x2 —y2 =1 then %:
a. y/x b. _x/y c. - y/x d x/y
Al x2—y? =1 dl %z
u Yy Y Yy 5. =7y Sy
If y=e*+e ™™ then %=
a. e*+e™™ b. —e*—e™* c.eX—e™ d —e* +
e—x
Ll y=e*+e™* dl 32732/=
¥, e +e™* W, —e*—e* 5. e¥—e™™ S.
—e* +
e—x
f(u.v)dx =
a. b. c. ufvdx— d.
u [vdx + v [ udx u [vdx — v [ udx [ [ vdx) dx fudx.[v
dx
f(u.v)dx =
W, . 5. ufvdx — S.
u [vdx + v [ udx ufvde—vfudx  [(& [ pdx)dx fudx.[v
dx
1 1 d B
fo T+x2% 7
a. - b. = c = d =
4 3 6 2
1 1 d
jo T+x2 07
T s 7T s
The Mean of first five even natural numbers is
a. 3 b. 4 c. 6 d 7
vl Uiy wislds You Adud i) of Heys 2]
A, 3 . 4 5 6 S. 7
For the given observations 14,18,25,14,18.20,14,17 Mode =
a. 25 b. 18 c. 14 d. 17
WG| Mddlsell 14,18,25,14,18.20,14,17 ol HEHS =
. 25 o, 18 s. 14 S. 17

Attempt any two S1&URL & o1 %clled W 1Y),
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Q3

If A(1,4), B(4,5) and C(6,7) are vertices of AABC then find the length of Median
drawn from Ato BC.

ol A(1,4), B(4,5) ¥l C(6,7) AABC <l 2{lR1udlga] eld dl A Hiell BCuR €lRd
Hed(| of] doqles QA

If the lines 3mx — 2my = 0 and (5m + 2)x — 4my — 28 = O are parallel straight
lines then find the value of m.

% YW IA] 3mx — 2my = 0 Ual (5m + 2)x — 4my — 28 = 0 UHidR &lA dl m <l

[sHd Q0lEl
If the radius of circle 2x2 + 2y? —4x —8y —k =0 is 4 unit then find the value of
Kk

) ddl 2x2 + 2y? — 4x — 8y — k = 0 =il (HRUL 4 AsH S1A dl k [SHd 2\t
Attempt any two S16URL &« 6] W), 08

If flx)=

then prove that

@ fEO+F()=0 (i) fG).f(—0) =1

1_
1+x

ol f(x)=11+;;: RICRERE
@ fEO+£(5)=0 (i) fO).f(—x) =1

o x*—6x+5

Bvaluate : I oz —sx+3
2_6x+5
(sUd el : i X ToXTY
x—>11m 2x?% — 5x -|; 3

3x\x
Evaluate : lim (1 + —)
x—0 4

5
e
Gud olld:  lim (1 + Tx)x

x—0

Attempt any two 16Ul & o1| %ci(6] ). 06
Find derivative of  f(x) = 2xsinx — x3 cos x

([as(@d Aad) :;f(x) = 2xsinx — x3 cos x

; sinx dy
if y= log(e ) then prove that T cosx = 0

. d
%y =log(es™*) dlulloid s1'3 d_z —cosx =0

Find Z_i/ fromthe following equation

xsiny +ysinx =0

(1211 s Mgl 2 Aad)

xsiny +ysinx =0

Attempt any two $16URL &) of| %cl|o] WUl 08

. d?y dy
If y=e™B@ "X then prove that (1 + xz)ﬁ + (2x — m)a =0

By =emanr QUG SAY 1+x) 22+ 2x-m)Z =0
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(b)

The equation of motion of a particle is s = t3 +3t .Find the acceleration and distance
travelled by the particle when the velocity is 9 cm/sec.

A5 581 ol oAl of UHLSWU s = 3 +3¢ DAUR A2 9 cmi/sec. S1- A HHA YA 3
581 GIRL SIUG widR 20l .

Find maximum and minimum values of the function

f(x) =2x3 — 15x% + 36x + 10

(A8 f(x) = 2x3 — 15x2 + 36x + 10 HI2 W[USAH M YsidH [SHAl Had)

Attempt any two S16URL &« 6] W), 06
2

1
Evaluate f( X +—> dx
v Vx
2

(Bud 2Dl - f (& +%) dx

sindx + cos3x
Evaluate : — > dx
sin?x .cos? x

m3x + 3
($Hd Q) : f SIMXT O X dx
sin?x .cos? x

Evaluate : fesm".cosx dx

EIRENEE fesmx.cosx dx
Attempt any two S1&URL & «i 6] W), 08

1
Evaluate : f xtan~!x dx

0
1
(sud 2Md): | xtan~'x dx
0
% Vsin x

Evaluate : dx
o Vcosx ++/sinx

[Esudantn:ji\/ sinx_ 1
o Vco

sx +Vsinx

Find area bounded by the curve y? = 4x and the line x = 2.

ds y? = 4x o YWl x = 2 43S RJAAEL ULl o &=501 k.

Attempt any two $16URL &) of| %cl|o] WUl 06
1—cosx

Find the equation of straight line which is parallel to the line 3x + 2y + 4 = 0 and
passes through the point (2,—-3)

Ad] Y3uL ol AH15WL AL B 3x + 2y + 4 = 0 o UHIARD W4 [0ig, (2, —3) Hiall
YR YUY D .

Find equation Tangent and Normal to the circle x? + y? — 2x + 4y — 20 = 0 at the
point (—2,2)

Adul x2 + y2 — 2x + 4y — 20 = 0 UR [0ig (—2,2) W10 1Lls W Au{ldo] o]
HHls0L 21l .

Attempt any two S1&URL & o1 %clled W 1Y), 08
Find Median for the following frequency distribution
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Class 10-20 | 20-30 30-40 40-50 50-60 60-70 70-80
Frequency 2 3 8 14 8 3 2
<13 o] g (d [Ad o) Heel Q)

qo| 10-20 | 20-30 | 30-40 |40-50 |50-60 |60-70 | 70-80
M[qf{-[ 2 3 8 14 8 2
Find Mode for the following frequency distribution

Class | 15-20 | 20-25 | 25-30 | 30-35 | 35-40 | 40-45 | 45-50 | 50-55 | 55-60
Frequ 3 8 10 19 25 21 6 5 3
ency
13 o] g [d (A Ul Wgds 2kl

qai 15-20 | 20-25 | 25-30 | 30-35 | 35-40 | 40-45 | 45-50 | 50-55 | 55-60
vlg 3 8 10 19 25 21 6 5 3
[

Find Standard Deviation for the following frequency distribution

Class 0-10 10-20 20-30 30-40 40-50
Frequency 5 8 15 16 6

o1 ol g [d (A Ul UHLSId [dues QM)

qai 0-10 10-20 20-30 30-40 40-50
g 5 8 15 16 6
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